e e R ) Py A R G o o

wd? afg o df FEl AR o 9 qE? 10

(b) Is any exemption available under Income Tax Act from
short term capital gains? Explain.
e ST & o Ag-EEE Yo Al )
FT B G IR B 5
Or (vr) '
Explain the following:
frefafga & @ Hivw

(a) Deduction under Section 80C

gRT 80C & M B2 10
(b) Deduction under Section 80E.
g 80F & STEfeT aheifadi | : 5
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Attempt all questions.

it g9 & I g

1. (a) Whatdo you mean by tax planning? What is the difference
between tax avoidance and tax evasion?
¥ Prie & U Far AU 87 Y 9RER
(Avoidance) 31T & 999 (Evasion) ¥ &l =X
&2 7
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(b) During the previous year 2016-17, Mr. Moon a citizen of
India, is planning to visit Sri Lanka to live with his son.
Prior to that, he has always been in India. During the entire |, 1

previous year 2016-17, he earned the following income:

Particulars Amount in Rs. ‘
Agricultural income in London 10,00,000 i )
Pension in India 20,000 per month ( (
Interest income from German Bonds 2,00,000

Suggest Mr. Moon, is there any tax advantage if he can

plan his-duration in Sti Lanka during the Assessment Year

2017-18. : 0 P
o ad 2016-17 & fro 7w, St 5 W @ AR 2,

ST I A A T B g s s 9 e 3 9w

T TRA F & @ ¥ 0 af 2016-17 F Ao vy

=1 o @

e @ (g0 ) 5
W ¥ i ey 10,00,000 A
Rd Uy 20,000 5fy T8

T qiEF & ure A 2,00,000 - r

g A 5 fo 17 @t # @ @ ¥ af 7
it B amm ko af 2017-18 B R BT
21 8

L]
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o X 38T 37 & %o 8,00,000 FAR ¥ 3% firo Y

AW § Bo 8,00,000 FATT £ | AT &Y I3 BT
T Bo 1,50,000 ¥ | T Bo 2,00,000 I T TR
g1 g e 5 o AP smEew @9 ar
T & Erar HIg & 37 aeq | ST Far |y
BT AR 3 W fft w1 & o & R o 20,000
TAF @ A 7 ‘ 10

(b) Explain the advantages of presumptive taxation under

Section 44 AD.
wﬁqawa%ummm%mm| 5

5. (a) Mr. Ajay purchased shares of a private company on 15th

October 2011 for Rs. 8,00,000. He sold these shares to
Mr. Gaurav on 20th July 2016 for Rs. 40,00,000. He paid
commission of Rs. 20,000 to the broker for selling the
shares. He does not have any house. He wants to purchase
a house for Rs. 20,00,000. Does he need to invest more SO
that capital gains is fully exempt? If yes, then where and
within how much time?

firo s/ 7 15 strzar 2011 F U PR T F o
8,00,000 % {31 @ | T o T & 20 T 2016
H T S H To 40,00,000 F I far | IE i A
fesl W =t Fo 20,000 €1 TED W T WY TE
81 T8 Fo 20,00,000 F1 7 GG T AT T @ 2 |

11 BED.
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(ii) T fafr ek wtie ot Tamae 7 1 39 Wie H e
g 7 @le F Wi & wE q B S 9
(iii) Al I wie 15 e 2016 9% @0 /9 o IqH!
F ARG AT F1 B, AT T IqH =i wa:
(1) 20 foa=T 2016 &
(2) 20 S=ad 2017 @ 10

(b) Explain the provisions of Section 54EC relating to

(a)

exemption of capital gains through investment in specified
securities.

grT S4EC % geof ¥ Rafirdiga sfnffoai & R
HE I Gl ATHl @ I §argy | 5

Or (3raan)

Mr. X is earning taxable salary income of Rs. 8,00,000 and
Mr. Y is earning taxable business income of Rs. 8,00,000.
Both have income from other sources of Rs. 1,50,000 each.
Both want to donate Rs. 2,00,000 each. Suggest whether
they should donate to approved scientific research
association or to Prime Minister’s National Relief Fund.
Further, what will be the effect on their taxable income if
they also spend Rs. 20,000 each on medical treatment of
brother suffering with disability who is dependent on

them?

)

Or (3ran)

(a) X isaresident and ordinary resident in India. He gives the

7824

following information in respect of his income for the
previous year 2016-17:
Particulars Amount in Rs.
Capital gains on sale of a house situated

in Pune (sale consideration is received

in Nepal) 5,00,000
Salary received in Sri Lanka for rendering
services in Tamil Nadu 6,00,000
Interest received from foreign government
securities 50,000

For the last five financial years he has been staying in
India only during the months of January, February and
March. Suggest Mr. X about the taxability of his different

incomes.

X 9Ra & fardt § ok wia & arEamer e )
frefer ad 2017-18 & forg orarfa o af 2016-17 3

frfaftag ol & o€ &

fafareat @A (So H)

9o § UF " B & g o

(e # fsma Tl foreh) 5,00,000

dfterarg, & @ a1 & i ¥ U S 6,00,000

faesht weardl ufeyfot & wra s 50,000
3 P.T.O.



foedt 5 auf & a8 R § @ @ @ R awad, e
AR A F | fro X A A= ot @Y wRgar @
gama i | T
(b) (i) Differentiate between Gross Total Income and Total
Income.
(i) All taxpayers are assessees but all assessees need not
be taxpayers. Explain. (
() W FA AT AR FA AT § =1 Forw |
@) ¥ Far Faifd et sed & weg |
freifdt s @ 8 ¥1 avf Fif) 8
2. ALtd has offered Mr. X a job in Delhi at a basic salary of Rs.
177,000 per month and dearness allowance (which does not X
form a part of retirement benefit salary) Rs. 15,000 per month
and gave an option to Mr. X to choose any one of the following
two packages:-
Package 1
1. HRA Rs. 4500 p.m. (Rent to be paid Rs. 6,000 p.m.)
Education allowance Rs. 300 p.m. (for one child)
Telephone allowance Rs. 1000 p.m.
Medical allowance Rs. 1500 p.m.

4)

vooA W N

Conveyance allowance Rs. 1500 p.m. (for private use)
Package 2
1. Company owned an accommodation of Fair Market Value

Rs. 54000 p.a.

7824 4

4. (a) Mr X has been earning profit of Rs. 50,00,000 in a year

7824

from his textile business. He is thinking of buying a new

plant for Rs. 12,00,000. He can either use his own money

or borrow from bank at 12% rate of interest. If he uses his
own money, he will lose interest @ 9% p.a. which he would

have got by depositing in the bank. Suggest the followin g

(i) Whether he should use his own money or borrow
money from bank. State 'aiong with reason.

(i) By which date he should purchase the plant and instal
1t? Will it make any difference if he purchases the asset
in the previous year but does not instal it?

(1) Whatlwi]i be his taxable income if he purchases plant
on 15th Sept. 2016, but:

(1) Instals on 20th Sept. 2016
(2) Instals on 20th Jan 2017
o X 31U HY2 & R ¥ Fo 50,00,000 TF a9 F

HAI E1 T Fo 12,00,000 FN 4T Wi @heT & G

RENT O 0 A a1 §F & 12% &9 @ WA g6

g1 afe I oo U TR w oA 9% e @

THE BT 8, S X & F o F & e

Frfafes w gama &

(i) @ 39T Y|r SUET HY AT §F A IUW o | Ay
I H q® e

9 PG



SuR Wt T qET W

T £ 1,60,000 90,000
Yo qufar @ ‘

arfrE 15-12-2015  01-10-2010  20-05-2009

o AT 1 & 2013 &1 I X & fT 12% =41 W Bo
20,00,000 ford| @ ol o T ¥ gEw & 6

HATT I ¥ -1 W E=a-ARET & o w@n

AT e | 15

Or (317an)

(a) “Income from house property is the most advantageous

head fqr a salaried assessee.” Explain the statement.
Further, suggest from which head, loss from house property
can be set-off for tax planning purposes.

uF Jav faifRdt & e ge awufa @ o wed
ATvard S § 17 g9 w1 qU B | ST
s Rt & frr gore A B Y s
e gHia & @i & g0 fRar S wwar § 7

(b) Explain the tax planning relating to self-occupied property

7824

with regard to interest on borrowed capital under Section

24(b) and Section 80EE.
T 80EE 3R &RT 24(b) % STEfi SuR & Tt Yoit
W AT i & W S & oavfy

FHfa | 8

¢

)

)

Education facility for one child in an institution owned by
employer, value at Rs. 300 p.m.

Free telephone facility at residence upto Rs. 1000 p.m.
Medical reimbursement upto Rs. 18000 p.a.

Motor car facility for private use with expenditure valued

at Rs. 18000 p.a.

The company also offers Mr. X services of watchman, sweeper

and gardener in both the above packages. The salary of each

employee is Rs. 500 p.m.

Which package should Mr. X choose to reduce his tax
liability? ;

Ao ¥ X F To 17,000 9T e B Yoy JqT W Rl
7 Al H1 werd fRar | sua wEmE o (S datgfa
1 fRwar 7E ®) so 15,000 wfamE faeT &1 fio uwaw @
A A P & REE A w @ g

YT 1

1.

o i
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HRA Fo 4,500 gferare (FRtrar fRar smem o 6,000
yfeTe)

f3rem s Bo 300 Ui WE (Uw g= @ fom)
IAET 9T Fo 1,000 UfHE

fferear W Bo 1,500 i

a8 (Conveyance) Wl Fo 1,500 gfawrs (Feft Sw=rr
& for)

5 P.T.O.



Yot 11 ' i 3. Mr A is the owner of three houses, all of which are self-

1. HEET & UTH Uk ¥ e sfud 9= 99 %o ’ occupied. The particulars are given below:
54,000 Sferadf &1 | ) ¢ Particulars House I House 11 House III
9. favem gfaen wh w=a & fow ws wewn A fww Municipal Value ~ 5,00,000 450000 3,280,000
wifirr Fritaar &1 & forasr gw So 300 WfHTE ¥ i _ Fairrent 6,00,000 500000  4,50,000
3. AT W WA g o 1,000 giHE ‘ . Standard rent 5,00,000 4,30,000 3,50,000
4. T wfagfd o 18,000 sl @ ( (  Municipaltaxes
5. &) @ ghaen ffy swam & ol Faer g7 vo (paid) 50,000 45,000 38,000
18,000 gia af ® 1 Interest on money
FR ZR Mo X & DTN, THER SR AR &l G borrowed o 1,60,000 90,000
¥ yeaifag ¥ yde FHEr & 399 o 500 YAHE El Date of completion
ffo X O FeTaT FH W B fog Hwa T of construction 15-122015  01-10-2010  20-05-2009
AN ? 15 Mr A borrowed Rs. 20,00,000 on 1st April 2013 @12% of
Or (3raan) interest for House 1. The loan is still unpaid. Suggest Mr. A
(a) Is there any way for the assessee to plan his tax liability that which house be treated as self-occupied for tax planning
with regard to salary income? ‘ ‘ purposes.
AT A &Y ST F A A B Y T HEGA ‘ fro A st & @l §, o 59 @ st & fog
w0 w@ & Fg Fn B adew ¥ 7 ( (b fRremifEE
(b) Differentiate between the two with respect to tax planning: fatufee w1 W w1
e Education allowance and Education facility TRAfEE g7 5,00,000 4,50,000 3,80,000
e Medical allowance and Medical facility. ' Sfra femEn 6,00,000 5,00,000 4,50,000
X amae & ged ¥ A # SRR il \ EEiga fRuar 5,00,000 430,000 3,50,000
() frem s ud fRren gl TR HT ‘
(i) Frfee e e FfeeEn gfET 8 (R ram) 50,000 45,000 38,000

7824 ; 6 ' 7824 7 P.T.O.



